Name: 2-Digit Addition without Regrouping

< Addition >

Find the sumes.

i 3 2 > 4 4
+ 1 5 + 3 4

c 4 1 d 20 & 6 2 f /7 2
+ 10 + 29 + 6 + 2 6

° 3 4 " 5 | 5 4 J 8 3
+ 2 3 + 6 1 + 20 + 1 6

«. Diego has 25 toy cars.
Sara a has 13 toy cars.
How many toy cars do they have altogether?

. Sara has 34 dolls.
Diego gives her 3 more.
How many dolls does she have in all?
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ANSWER KEY

< Addition

N

Find the sum:s.

° 3 2 - 4 4
+ 5 + 3 4
47 7 8
c 4 d 2 0
+ 1 0 + 29
51 4 9
e 3 4 n 5 ' 5
+ 2 3 + 6 1 + 2
57 6 6 7

«. Diego has 25 toy cars.
Sara a has 13 tfoy cars.
How many toy cars do they have altogether?

. Sara has 34 dolls.
Diego gives her 3 more.
How many dolls does she have in all?

38 toy cars
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